Practice test 2

Count in two's.

Total: 15 Marks

(1)

6 8 10 18 2/
Count in two's to so. (1)
2 L 6
12 18
24 30
36
L2 50
Do the Fo”owing subtraction calculations. (£)
9 — 3 =
2 — 8 =
1L — T =
6 — 6 =
Make groups of 2 () Make groups of s (1)
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How many groups are there?__ How many grgﬁ\ios are there?__




Sl’\qr*e the bCI”S equG”LJI among 2 Friends. (I)
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How many balls will each friend Set?

There are 12 sweets. There are 3 friends who must Set

sweets. Share the sweets eq{ua”g qmongst the friends. How

many sweets will each friend 3et? (3)
Do the f\o”owing calculations. (3)
I0 = 2 =
I5 = 3 =

12 = 4



